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(What will be the(§mallest\5-digit number
W, made up of the digits 3,0,8, 4 and 1?)
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(D) 18034
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5 ST 2.5 £ 0.5 x 0.1 - 0.05 T A
%Orbmﬁg &Il YT FIAT TROTH ATAT 82
(What is the result of simplifying the
\\\\\\expression 2.5+0.5%x0.1-0.05?)
ﬁ'ﬁ of X X % Vo (NVS 2005)
() & | 'S (1) 0.45
{(2') S¥syo.1-0-05 (2) 0.25

- 55 (3) 49.95

— 0-0% (4) 100
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5 151023
[S41>3 (is the decimal equivalent of 15 —)

v%%
( é 5) 3\0 (A)15.1432 (B) 15.1605

(C) 15.123 \(pf15.133
%0
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@-aﬁns 15 + 15'x 6 =X &, AT X T ATA
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=

(If 15 —-15 + 15 x 6 =%, then the value of X
N\ is)

(JNV 2020)

IS-€ = X (1) 6

3)9

(4) 84
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gau'la’cmaﬁ240$aﬂ grar 81 (199
A @ )

'°'° dgeIT A1fgT?
eI ing a radio for Rs 770, a shopkeeper

incurs a loss of Rs 240. For how much should
@“‘m l‘)‘o the radio be spld to make a prof t of Rs 1997?)
IZ'

w . ) 89 $UT

S (b) 1089 ¥UT
q

7077L 2 (c) 1019 ¥YUT

/ 0/0 7Ry (d) 1209 FYT
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/Q.7) AR UF T T TAF HAT 7=

c &ﬁ_ﬂéé’fw ar a3t F1 aFwa

?’g;@.e; HCh ET ST (If each side of a square

educed to one-third of its own, the area
C\L_/Ml - 3, of the square will reduce to):
*5) \%\3}"’ \@ ~ (JNV 20 JAN 2024)
\/ 2 (A) Uh-ATddl (one-seventh)
3 (3 (B) tra:-f?m'é (one-third)
(C) Uh-3TSdl (one eighth)
DY U&h-TdT (one-ninth)
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T 54.8

g 43 .92

T 36.14

T 270 3185 |/ | | L

1931

1941 1951

1961

1971 (l981>

Population Year (TSSO 99)
(A) 1931 (B) 1961 \(C)1981
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Q.9 What is the supplementary angle of

S*Se 55
S upp\eme'v\ {’GYOL B r : w%?
NS @ =1 20) (A) 135 °
*—/, Q6 (B) 45 °
_ >S5 Jeyise
/9> (D)115°
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@ Which of the following numbers is

9 not)a factor f@
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